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FOREWORD 
The National Examinations Council of Tanzania (NECTA) is pleased to issue the 
Candidates’ Item Response Analysis (CIRA) report for the Advanced Certificate of 
Secondary Education Examination (ACSEE) 2023. The main aim of this report is 
to provide feedback to all education stakeholders about the performance of the 
candidates in the Commerce subject. The examination was set based on the 
teaching and learning objectives as stipulated in the Commerce syllabus of 2010, 
and the 2019 Examination Format. 
 
The overall candidates’ performance in the Commerce subject was good as 1,547 
(99.87%) candidates passed the examination and only 2 (0.13%) candidates failed. 
The report analyses some of the reasons for the candidates’ good, average and 
weak performance in each question. Some of the reasons for good performance 
were ability to adhere to the demands of the questions, better understanding of 
content of the subject, and applying competency based knowledge in responding to 
the questions. This report highlights the challenges the candidates encountered 
when answering the examination questions such as partial knowledge, 
incompetence in the subject matter, misconception and failure to follow 
examination instructions. It also suggests the ways towards overcoming those 
challenges.  

It is expected that the report will provide a room for education stakeholders to 
identify the means through which the teaching and learning of Commerce can be 
improved in the future examinations administered by the council.  

Finally, the National Examinations Council of Tanzania would like to appreciate 
the contribution from every individual who participated in the preparation of this 
report. 
 
 

 
Dr.Said Ally Mohamed 

EXECUTIVE SECRETARY 
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1.0 INTRODUCTION 
The aim of the Candidates Item Response Analysis Report on the 
Advanced Certificate of Secondary Examination (ACSEE) 2023 is to 
evaluate the candidates’ competences as stipulated in the Commerce 
syllabus for the Advanced Level of Secondary Education which was issued 
in the year 2010 and in accordance with the 2019 Revised Examination 
Format.  
 
The Commerce examination consisted of two (2) papers: 152/1 Commerce 
1 and 152/2 Commerce 2. Each paper had seven (7) essay questions. In 
both papers, the candidates were required to answer five (5) questions. 
However, question number one (1) was compulsory in both papers. Each 
question carried twenty (20) marks. 

 
A total of 1,554 candidates were registered for the Commerce examination 
of the Advanced Certificate of Secondary Education Examination (ACSEE) 
2023. Among them 3 (0.19%) candidates did not show up for the 
examination. Therefore, the candidates who sat for this paper were 1,551 
(100%) of which, the result of two candidates were withheld due to some 
reasons. Further analysis shows that 1,547 (99.87%) passed the 
examination with different grades from A to S grade and 2 (0.13%) 
candidates failed. The candidates’ performance in the year 2023 increased 
by 0.02 percent compared to 2022 whereby 1,380 candidates sat for the 
examination and 1,373 (99.85%) candidates passed.  
 
The performance of the candidates in each question and each topic is 
categorised as good, average and weak. The performance of candidates in 
each question is regarded as good if the score ranges from 12 to 20 marks, 
average if the score ranges from 7 to 11.5 marks and weak if the score 
ranges from 0 to 6.5 marks out of the 20 allocated marks. Three colours: 
green, yellow and red have been used to indicate levels of performance as 
good, average and weak respectively.  
 
The analysis includes figures, extracts of samples of correct and incorrect 
responses in each question from different candidates and a summary of the 
candidates’ performance in each topic. 
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2.0 ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH 
QUESTION 

 
2.1 COMMERCE PAPER 1 

2.1.1 Question 1: Advertising 
The question was as follows: Mr Patel owns a small scale industry and he is 
planning to hire a salesman to support him in advertising and selling his 
products. Suggest six appropriate qualities that would guide him to get the 
right salesman.  

The question was compulsory and was answered by 1,551 (100%) 
candidates. Among them, 951 (61.32%) candidates scored from 12 to 20 
marks, 429 (27.65%) scored from 7 to 11.5 marks and 171 (11.03%) scored 
from 0 to 6.5 marks. The overall performance in this question was good as 
1,380 (88.97%) candidates scored from average and above (7 to 20 marks). 
This performance is summarised in Figure 1.  
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Figure 1: Candidates’ performance on question 1 in Paper 1 

 
The majority of the candidates 951 (61.32%) who scored from 12 to 20 were 
able to suggest the appropriate qualities which a salesmanship should 
possess in order to support Mr. Peter in his industry. These candidates were 
knowledgeable on the topic of advertising particularly on salesmanship. 
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Some candidates were able to suggest almost all the required qualities. 
Sufficient number of correct points suggested by the candidates and 
correctness of the explanation given on each point was used in determining 
the candidate’s scores. However, there were only 3 candidates who scored 
all the 20 allocated marks in this question. They managed to provide correct 
qualities as per the requirement of the question. Extract 1.1 is a sample of 
the correct responses from a candidate. 
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Extract 1.1: A sample of correct responses to question 1in paper 1 
 

In Extract 1.1, the candidate provided correct suggestions of the quality of 
salesman who can support Mr. perter in advertising and selling his 
products. 
 

The candidates with average performance 429 (27.65%) had partial 
knowledge on salesmanship because most of them were able to mention all 
the correct qualities but they were not able to provide relevant explanation 
to support their points. In addition, some candidates in this category 
managed to explain at least three correct points out of the required six. 
Other candidates’ responses included correct points with some features of 
advertising and its importance which not asked. 
 
Despite the good performance in this question, 171 (11.03%) candidates 
scored from 0 to 6.5 marks. This was the result of inadequate knowledge of 
the concepts on advertising. Some candidates in this category managed to 
mention some correct suggestions but the explanation provided did not 
match with the correct points mentioned. For example, one of the 
candidates mentioned polite, hardworking and honest which were correct 
but interchanged the explanation of polite with that of honest. The other 
points from this candidate were on the importance of adverting to the 
industry which was contrary to the demands of the question. Furthermore, 
the analysis shows that some candidates scored marks on the introduction 
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part only and zero to the rest of the work because their responses were 
based on the role of advertising instead of the qualities of a salesman to 
perform salesmanship.  

In addition, 10 (0.64%) candidates scored zero because they had 
misinterpreted the question. Therefore, answered the question contrary to 
its demands. For example, one of these candidates explained the functions 
of an entrepreneur by writing the points such as planning, risk taking, 
starting up a business, organizing other factors of production, paying for 
the factors of production. Other candidates in this category wrote the role 
of advertising such as; create demand of new products, inform and 
persuade the public, expand the market, create goodwill, and promote the 
product. Moreover, the analysis shows that other candidates explained the 
factors to consider when choosing the advertising media instead of the 
qualities of a salesman. The correct responses for this question include: 
ability to assess and understand customers’ character, decision maker, 
should be honest and sincere in their dealings, should be polite, patience 
and courteous, should have knowledge about the products, should have 
knowledge of the producer, should have attractive personality and should 
have knowledge of competitors’ products. Extract 1.2 is a sample of an 
incorrect response to question 1. 
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Extract 1.2: A sample of an incorrect response to question 1 in paper 1 
 

In Extract 1.2 the candidate explained the factors to be considered when 
choosing advertising media instead of the qualities of a salesman needed by 
Mr. Peter in advertising and selling his products.  
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2.1.2 Question 2: The Scope of Commerce 
The question was as follows: Ms. Mkutano from Uvinza buys goods from 
various suppliers within and outside the country and sells them at a profit. 
In six points justify that the activity performed by Ms. Mkutano is trade.  

The question was opted for by 1,103 (71.1%) candidates. Among them, 459 
(41.61%) scored from 0 to 6.5 marks, 201 (18.23%) candidates scored from 
7 to 11.5 marks and 443 (40.16%) candidates scored from 12 to 20 marks. 
The general performance in this question was good since 644 (58.39%) 
candidates scored an average marks and above.. Figure 2 summarises the 
candidates’ performance on question 2. 

 
Figure 2: Candidates’ Performance on Question 2 in Paper 1 

The analysis shows that, the 644 (58.39%) candidates who scored from 7 to 
20 marks were aware that trade is any legal activity which involves buying 
and selling of goods and services with the aim of making profit. In 
answering this question the candidates were required to understand the 
features of trade. Most of the candidates in this category justified the 
statement using the features of trade. However, some of them could not 
provide sufficient explanation to support justification of their points. Some 
candidates managed to justify the statement by providing four out of the 
required six points. They were aware of the difference between trade and 
other activities which are not trade. A few candidates scored all the 20 
marks because they responded to the question according to its demand. The 
candidates’ scores varied due to their ability to provide detailed and 
meaningful explanation to the points. Extract 2.1 is a sample of the correct 
responses to question 2 from a candidate who scored high marks.  
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Extract 2.1: A sample of the correct responses to question 2 in paper 1 

 
In Extract 2.1 the candidate justified that the activity performed by Ms. 
Mkutano is trade.  
 

Furthermore the analysis shows that 459 (41.61%) candidates scored low 
marks ranging from 0 to 6.5 out of the 20 allocated marks. The majority of 
these candidates failed to interpret the demands of the question. Some of 
them misinterpreted the question as the functions of retail trade so they 
explained the functions of retailers. For example, one of the candidate’s 
responses were: breaking the bulk, bridge the gap between wholesaler and 
customers, transporting the goods in and outside the country, providing 
credit to the customers, providing advice to buyers. In addition, some 
candidates failed to apply essay writing skills so they did not include 
introduction and conclusion to their responses. Other candidates also scored 
low marks because, instead of justifying that the activities performed by 
Ms. Mkutano was trade they explained the activities that facilitate trade to 
take place effectively (aids to trade). On the other hand, a few candidates in 
this category managed to mention some correct points such as profit 
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motive, buying for resale and a continuous activity but they could not be 
able to provide relevant explanation to justify that Ms. Mkutano’s activity 
is trade. Some candidates mixed a few correct points including: buying for 
resale and profits with incorrect points about the branches of trade such as 
retail trade, wholesale trade, import and export trade. Extract 2.2 is a 
sample of the incorrect responses from a candidate who misinterpreted the 
question.  
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Extract 2.2 is a sample of the incorrect responses to question 2 in paper 1 

In Extract 2.2 the candidate explained the activities that assist trade to take 
place instead of justifying that the activity performed by Ms. Mkutano is 
trade. 
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2.1.3 Question 3: Insurance 
The question was as follows: Lucy wants to insure her house which worth 
40 million against fire. However, she is not aware of the procedures of 
obtaining fire insurance policy. Assist her by describing the procedures 
that she should follow to acquire the policy.  

The question was answered by 1,176 (75.8%) candidates. The candidates’ 
performance in this question was as follows: 851 (72.36%) candidates 
scored from 12 to 20 marks, 272 (23.13%) scored from 7 to 11.5marks and 
53 (4.51%) scored from 0 to 6.5 marks. The candidates’ performance in 
question three is summarised in Figure 3.  
 

 
Figure 3: Candidates’ Performance on Question 3 in Paper 1 

 
Figure 3 shows that the majority of the candidates 1,123 (95.49%) scored 
from average and above of the 20 allocated marks. The candidates who 
scored high marks were competent in the topic of insurance particularly on 
the procedures for taking up an insurance policy. These candidates 
understood the requirement of the question and had adequate knowledge of 
the procedures to insure the properties like a house owned by Lucy. They 
were aware that before Lucy insures her house she needs to identify the 
insurer to whom she will insure her property. However, sometime in cases 
the insured can skip this step and nothing wrong would occur. It is done 
under the assumption that, the insured is aware of the insurer to whom she 
is planning to insure her property therefore no need of taking it as a step. 
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Some candidates answered the question using five procedures while others 
used six procedures. Identify the insurer as first procedure to some 
candidates but others started with filling a proposal form as the first step. 
They were all right according to scholars. Beside that assumption many 
candidates use the point of identifying the insurer as a first step. Those 
candidates were familiar with the procedures for taking up the insurance 
policy. Some candidates had average scores because they mentioned all the 
procedures correctly but some of the explanations were not satisfactory to 
worth full marks. Likewise, there were some candidates who described at 
least three procedures correctly while other procedures were randomly 
mentioned. Extract 3.1 is a sample of the correct responses from one the 
candidates. 
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Extract 3.1: A sample of the correct responses to question 3. 

 
In Extract 3.1 the candidate responded correctly on the procedures to acquire an 
insurance policy. 
 
Regardless of the good and average performance, 53 (4.51%) candidates 
scored low marks ranging from 0 to 6.5 marks. The responses from most of 
these candidates show that they understood the demand of the question but 
failed to answer it accordingly because they did not describe the procedures 
sequentially. They presented them randomly without observing the order. 
Some of these candidates managed to list and arrange in good order only 
two procedures and the other procedures were randomly presented. For 
example, one of the candidates wrote identification of the insurer, filling a 
proposal form, receiving of the policy, receiving of cover note and payment 
of premium. The steps mentioned are correct but they were randomly 
mentioned. Few of these candidates failed to understand the property to be 
insured and the form of insurance to be taken according to the question (a 
house to be insured against fire). Therefore, explained the procedures for 
taking health insurance instead of fire insurance. This implies that some 
candidates did not read the question carefully. Furthermore, the analysis 
show that one of the candidates explained the procedures the insured has to 
follow in order to be compensated in case of accident/loss. Extract 3.2 
represents a sample of incorrect responses to question 3. 
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Extract 3.2: A sample of the incorrect responses to question 3 

In Extract 3.2, the candidate explained some of the procedures for 
compensation in case the property insured under marine insurance policy is 
involved in accident instead of the procedures for obtaining fire insurance 
policy.  
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2.1.4 Question 4: Retail Trade 
In this question was as: Shrinkage is among the sources of a retailer’s loss 
resulting from dishonest practices. Suggest six measures a retailer can take 
for shrinkage minimization. The question was intended to test the 
candidates’ understanding on the sources of loss to the retailers particularly 
on shrinkage. 

A total of 262 (16.90%) candidates answered this question as it was 
optional. Among them 131 (50.00%) candidates scored from 12 to 20 
marks, 42 (16.03%) scored from 7 to 11.5 marks and 89 (33.97 %) scored 
from 0 to 6.5 out of 20 marks. The general performance in this question 
was good because 173 (66.03%) candidates scored 7 marks and above as 
shown in Figure 4.  

 
Figure 4: Candidates’ Performance on Question 4 in Paper 1 

Those candidates whose scores ranged from 7 to 20 marks demonstrated 
their understanding on the sources of retailers’ loss particularly on 
shrinkage and the ways to control or minimize shrinkage by providing 
relevant responses to the question. The 6 (0.39%) candidates who scored all 
20 marks were able to explain the measures for shrinkage minimization in 
retail businesses. These candidates also had good essay writing skills as 
well as adequate English language proficiency. Other candidates who did 
not score full marks in this category had knowledge of how to minimize 
shrinkage however they provided partial explanation to some of the 
identified correct measures. For example, some of the candidates explained 
four to five points correctly but they overlooked the word surprise form 
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one of the point: conduct regular surprise checks for both cash and 
physical inventory, therefore, explained it negatively. One of them wrote 
that the owner of the retail business has to inform the employees to prepare 
all documents ready for checking instead of not giving prior information.  

Further analysis shows that most of the candidates who scored average 
marks understood the demand of the question but had partial knowledge of 
the measures to minimize shrinkage. They managed to mention some of the 
measures correctly but failed to provide correct explanation to some of the 
mentioned measures. Other candidates gave less number of the correct 
points and some irrelevant points in their response. For example, one of the 
candidates wrote: employee theft, suppliers’ fraud and training of staff in 
security system which were correct and included the point like good buyer, 
be pleasant to customers and buying few items to avoid loss which was 
irrelevant according to the demands of the question. The first and second 
incorrect points were the qualities of a good retailer which was irrelevant to 
the question. Extract 4.1 is a sample of a correct response to question 4. 
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Extract 4.1: A sample of correct the responses to question 4 in paper 1 

Extract 4.1 shows a sample of correct response from a candidate who 
suggested the correct measures a retailer can use to minimize shrinkage. 
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On the contrary, the analysis shows that 89 (33.97%) candidates scored low 
marks ranging from 0 to 6.5. These candidates had little knowledge of how 
to control shrinkage in retail businesses. They were not aware that 
shrinkage is used to describe reduction of inventory due to shoplifting, 
employee theft, administrative errors, pricing, cash counting, large number 
of hidden sales areas, lack of control of all store rooms, operational loss 
and suppliers’ fraud. Lack of awareness led the candidates to provide 
incorrect responses to the question. Some candidates mentioned the points 
like honest, listening to customers’ complains and controlling of in and out 
flow of goods in stores which were correct but failed to provide relevant 
explanation to any of the points. In addition to that there were some 
candidates who identified the cause of shrinkage but failed to explain the 
measures against such causes. Other candidates explained the functions of 
entrepreneurs instead of the measures that a retailer can take to minimize 
shrinkage. Likewise, there were some candidates who explained the 
features of successful entrepreneur and some of the marketing functions 
such as; good decision making, sales promotion, selling, transportation, 
risk taking and marketing information. The analysis also revealed that some 
candidates explained the ways to solve challenges facing retailers such as; 
provision of education to retailers, reduction of tax by the government, 
provision of loans by the government, the government to allocate specific 
areas where retailers can conduct their businesses and to entering into 
contract with insurer. Extract 4.2 represents a sample of incorrect 
responses to question 4. 
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Extract 4.2: A sample of the incorrect responses to question 4 in paper 1 

Extract 4.2 shows an incorrect response from the candidate who wrote the 
ways to increase goods in the retailer’s warehouse instead of measures that 
a retailer can take to minimize shrinkage.  

 
2.1.5 Question 5: Production 

The question was as follows: Production is an essential activity for the 
survival of individuals and the nation. Justify this statement by giving six 
reasons. 

The question was answered by 1,504 (97.00%) candidates, among them 
1,294 (86.04%) candidates scored from 12 to 20 marks, 210 (13.36%) 
scored from 7 to 11.5 marks and 9 (0.60%) scored from 0 to 6 out of 20 
marks. Generally, the performance in this question was good because a 
total of 1,495 (99.40%) candidates scored from 7 to 20 marks. This 
performance is summarised in Figure 5. 
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Figure 5: Candidates’ Performance on Question 5 in Paper 1 
 

The performance of the candidates as summarised in figure 5, shows that 
majority 1,495 (99.40%) candidates understood the importance of 
production to individuals and the nation. They applied the meaning of 
production to generate the importance of production. Production is the 
process of creation of utility. It includes manufacturing, commerce and 
direct services from which people employ and are employed in different 
aspects. The candidates 1,294 (86.04%) who scored high marks 
demonstrated their ability to reflect the importance of production in day to 
day life. However, a few candidates who scored marks from 7 to 11.5 
marks managed to justify the statement given by less numbers of points 
than the required. Some of them were able to provide all correct points for 
justification of the statement but could not provide sufficient explanation to 
some points. Extract 5.1 is a sample of the correct responses to question 5. 
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Extract 5.1: A sample of the correct responses to question 5 in paper 1 
 

In Extract 5.1, the candidate demonstrated his/her understanding on how 
production is essential activity for survival of individuals and the nation.  

A few 9 (0.60%) candidates scored low marks (0.5 to 6) in this question. 
The responses from five candidates out of nine showed that they lacked 
knowledge of how to address the question. Some of them listed at least two 
correct points but failed to link the points to the demands of the question 
while others managed to explain partially at least one point. The other 4 
candidates did not understand the requirement of the question by explaining  
how aids to trade facilitates trade to take place while one of them explained 
the importance of aids to trade in production process instead of the 
importance of production to individual and the nation. Extract 5.2 presents 
a sample of incorrect responses to question 5. 
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Extract 5.2: A sample of the incorrect responses to question 5 in paper 1 
 

In extract 5.2, the candidate explained the importance of aids to trade in the 
production process instead of the importance of production to individual 
and the nation.  
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2.1.6 Question 6: Banking 
The question was as follows: How is the Bank of Tanzania (BoT) regulates 
the economy of the country during inflation? The question was intended to 
test the candidates’ ability to apply the functions of BoT, particularly the 
controlling function. 

The question was answered by 1,443 (93.00%) candidates. Among them 
917 (63.55%) candidates scored from 12 to 20 marks, 392 (27.16%) scored 
from 7 to 11.5 marks and 134 (9.29%) scored from 0 to 6.5 marks. Figure 6 
the summaries the performance on question 6. 
 

 
Figure 6: Candidates’ Performance on Question 6 in Paper 1 

 
Figure 6 shows that 90.71 percent of the candidates who answered this 
scored from 7 to 20 marks. This shows that the general performance in this 
question was good.  
 

The candidates with high scores (12 to 20 marks) were competent about the 
meaning of inflation, its effects and the ways the Central Bank of Tanzania 
(BoT) can use its mechanisms to stabilize the economy of the country during 
inflation. If the living cost of a certain country is high, it indicates that there 
is inflation in the country, therefore it is the task of central bank of a country 
to intervene and control the situation. Inflation also is the rate of increase in 
price over a given period of time. The candidates who scored high marks 
understood that the chief responsibility of the Central Bank of Tanzania 
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(BoT) is regulating the flow of money and credit in the country. They knew 
the mechanisms used by the BoT to control over supply of money in 
circulation. A few candidates scored all 20 marks while the scores of other 
candidates varied according to the correctness of the points provided and 
clarity of their explanation. Extract 6.1 is a sample of the correct responses 
from one of the candidates with high scores on question 6. 
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Extract 6.1: A sample of the correct responses to question 6 in paper 1 

Extract 6.1 shows a correct response from a candidate who explained the 
mechanisms used by BoT to regulate the economy of the country during 
inflation.  
 
On the other hand, 392 (27.16%) candidates had average performance in 
this question. Their scores had been attributed to number of factors. The 
analysis shows that some candidates in this group mixed a few general 
functions of central bank with the mechanisms the central bank uses to 
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control inflation. For example, one of the candidates wrote open market 
operation, raising bank rate, banker to the government, act as a lender of 
last resort, selective control, special deposits, issue of currency. The 
candidates failed distinguish the general functions of BoT with the specific 
function of controlling credit. Therefore the point like banker to the 
government, act as a lender of last resort and issue of currency are the 
general functions of BoT. Others highlighted all the mechanisms to regulate 
the economy during inflation but some of the points were partially 
explained and others were incorrectly explained. In addition, some 
candidates used insufficient number of correct points to explain the 
situation. This shows that the candidates understood the question but had 
insufficient knowledge.  
 
A total of 134 (9.29%) candidates had scores ranging from 0 to 6.5 marks. 
Majority of the candidates in this category mentioned some correct points 
but could not explain the points correctly. Furthermore, the analysis shows 
there were candidates who confused control of import and control of 
inflation, so they explained the ways to control imports instead of the way 
to control inflation. These candidates failed to realise that inflation is all 
about increase in price of goods and services in a country over a particular 
period of time that lead to high cost of living and unstable economy. It is 
the task of BoT to regulate the economy during inflation by reducing 
money in circulation using the mechanisms such as selective credit control, 
special deposits, marginal requirement, current reform, bank rate policy, 
open market operation, raising cash ratio, raising credit and providing 
instruction to commercial banks. Some candidates scored some marks from 
introduction part and at least one correct point. Extract 6.2 is one of the 
incorrect responses to question 6. 
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Extract 6.2: A sample of incorrect responses to question 6 in paper 1 

 
In extract 6.1 the candidate explained some general functions of BoT 
instead of explaining the ways in which the BoT can regulate the country’s 
economy during inflation.  

 
2.1.7 Question 7: Transport and Business Communication 

In this question the candidates were given the following scenario: In 
business communication, the message is said to be effective when the 
receiver understands the same meaning that the sender intended to convey. 
They were required to validate the statement using the criteria for effective 
message by limiting their answer into six points. The question was intended 
to test the candidates’ ability to apply the criteria that make the message to 
be effectively communicated to justify that the message communicated is 
effectively received.  
 
This question was attempted by a total of 716 (46.20%) candidates, among 
them 351 (49.02%) candidates scored from 12 to 20 marks, 239 (33.38%) 
scored from 7 to 11.5 marks and 126 (17.60%) scored from 0 to 6.5 marks. 
The general performance was good since 590 (82.4%) candidates scored 
average marks and above (7 to 20 marks). Figure 7 summaries the 
performance on question 7. 
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Figure 7: Candidates’ Performance on Question 7 in Paper 1 
 

The candidates who scored average marks and above (7 to 20 marks) 
understood the demand of the question and were knowledgeable about the 
concept examined. They understood that effective communication occurs 
only when the intended massage reaches the receiver and the receiver 
understands it as it is intended too.  

Most of the candidates who scored high marks (12 to 20) were able to 
validate the statement by providing correct criteria for effectiveness of the 
message communicated, though some of the criteria were not well explained 
by some of the candidates. Others provided at least four correct criteria out 
of the required six but also portrayed their essay writing skills. The 
candidates understood that in order for the receiver of the message to receive 
the same meaning as intended by the sender the following should be taken 
into account: completeness of the message to be communicated, audience, 
integrity of the sender, attitude of the receiver (positive), timely, and 
appropriate communication media. Additionally, the candidates who scored 
average marks were also aware on the criteria but they had partial 
knowledge that made them provide unsatisfactory explanation to some of 
the criteria. Furthermore the analysis shows that some candidates in this 
category made repetition of the points in their responses resulted into 
insufficient number of points. For example, one of the candidates explained 
the point of the receiver’s attitude and the receiver’s mood as different 
points while they mean the same. The other candidates did the same wrote 
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completeness of the message as one point and concise as another point. 
Extract 7.1 present a sample of correct responses from a candidate who 
scored high marks on question 7. 
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Extract 7.1: A sample of relatively correct responses to question 7 in paper 1 

 
Extract 7.1 shows a sample of a relatively correct response to question 7. 
The candidate explained the criteria for effectiveness of the message 
delivered to receiver from the sender, however in the point of the sender to 
know the subject matter, the candidate explained it as the message is well 
discussed which is not actually the meaning of the point. It is about being 
aware of the subject matter (content) of the message. 
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On the contrary, the analysis shows that a total of 126 (17.60%) candidates 
had weak performance (0 to 6.5 marks) in this question. Their weak 
performance had been attributed to inadequate knowledge of the concept 
examined and poor understanding of the requirement of the question.  
Some candidates highlighted one or two correct points but failed to provide 
correct explanation in relation to the demands of the question. Most of them 
scored some marks on the introduction part and the point of language as 
one among the criteria. The other points explained by these candidates 
include the factors to consider when choosing communication media. For 
example, one of the candidates wrote urgency of the message, cost of the 
media, the need to keep record, accuracy of information as responses to the 
question. These points are factors to consider when choosing a 
communication media. In addition, some candidates wrote irrelevant points 
to the question such as factors that hinder effective communication. Others 
explained the advantages of communication into the business. For example, 
the response from one of the candidates includes: awareness of the 
customer about availability of the goods and services, market expansion, 
increase in production, employment opportunity, facilitate customers’ 
choice, and facilitate business transaction. Extract 7.2 is a sample of incorrect 
responses to question 7.  
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Extract 7.2: A sample of incorrect responses to question 7 in paper 1 
 

Extract 7.2 shows incorrect response from a candidate who wrote factors that 
hinder communication instead of the criteria that leads to effective 
communication. 
 

2.2 COMMERCE PAPER 2 
2.2.1 Question 1: Import Trade  

The question required the candidates to examine the role of the tools used 
in protectionism policy in protecting local industries from the danger of 
imported goods to the country by limiting their answers to six points. The 
question was intended to test the candidates’ ability to apply the tools of 
protectionism policy to protect home industry. The question was as 
follows: Examine the role of the tools used in protectionism policy in 
protecting local industries from the danger of imported goods to the 
country. Limit your answer in six points. 
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The question was compulsory so it was attempted by all 1,551 (100%) 
candidates. The data shows that 385 (25.73%) candidates scored from 12 
to 20 marks, 237 (15.73%) scored from 7 to 11.5 marks and 915 (58.99%) 
candidates scored from 0 to 6.5 marks. This performance is summarised in 
Figure 8. 
 

 
 

Figure 8: Candidates’ Performance on Question 1 in Paper 2 
 

The question had average performance since 622 (41.01%) candidates 
scored from 7 to 20 marks. However, majority of the candidates (58.99%) 
scored below 7 out of the 20 allocated marks as seen in figure 8.  
 
The candidates who scored average marks and above understood the tools 
used in the protectionism policy to protect home industry in the county. 
Some of them were able to identify the tools used to protect of home 
industry from the danger of imported goods. However, they had partial 
knowledge of how they are used to control import. The majority 
mentioned the tools like; total ban, currency devaluation, granting 
subsidies to home producers, import and export Licenses (Trade License), 
foreign exchange controls, Import Tariffs (taxes) and Import Quotas but 
only a few managed to provide relevant explanation on each tool. Some 
provided correct explanation to only three points while other points had 
inappropriate explanation. Moreover there were some candidates who 
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failed to distinguish some of the tools hence interchanged the explanation 
of the tools. For example, some candidates failed to differentiate total ban 
and import quotas. The candidate failed to realize that total ban means 
totally not allowed importing a particular product(s) while import quota 
the amount of a particular item to be imported is limited to a certain 
quantity. That is to say, the government totally restrict importation of 
sugar because the sugar produced in the local industries is sufficient (total 
ban), while in import quota the country can allow importer to import a 
stated quantity of sugar.  
 
The analysis further shows that candidates who scored high marks were 
able to examine the role of the tools used to protect local industries from 
the danger of imported goods. They had sufficient knowledge of the tools 
used to control importation of goods which can locally be produced in the 
country. Most of them examined the role of the tools used to protect local 
industries; however, some of the tools were not clearly examined. The 
candidates who scored full marks were knowledgeable and adhere to the 
requirement of the question. Other candidate’s scores differed according to 
individual ability to answer the question. Extract 8.1 is a sample of correct 
response to question 8.  
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Extract 8.1: A sample of correct responses to question 1 in paper 2 

 
In Extract 8.1 the candidate provided relevant tools used in protectionism 
policy in protecting home industries. 
 
Conversely, 915 (58.99%) candidates scored low marks (0 to 6.5 marks). 
A few among them were able to evaluate at least one to two correct points 
and included in their response the documents used in foreign trade such as: 
certificate of origin, letter of credit, consular invoice, and letter of 
hypothecation. Other candidates mentioned a few correct tools with 
unrelated explanation. This justified that they had inadequate knowledge 
of the tools used to control imports so as to protect home industries. The 
candidates who scored zero marks failed to interpret the requirement of the 
question. For example, one of the candidates explained advantages of 
international trade he/she wrote the country can buy what it cannot 
produce, broaden the opportunity to buy variety of goods, international 
understanding, business competition, country to sell its surplus and 
improve the standard of living. Furthermore, some candidates explained 
the reasons for foreign trade and their responses were: low level of 
technology, lack of required raw materials, law of comparative 
advantages, insufficient labour power and climatic condition. Extract 8.2 
is a sample the incorrect responses from one of the candidates who failed 
to interpret the demand of the question.  
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Extract 8.2: A sample of incorrect responses to question 1 in paper 2 

 
In Extract 8.2 the candidate explained advantages of import restriction 
instead of the tools used in protectionism policy to protect local industries. 
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2.2.2 Question 2: Contract of Sale  
In this question candidates were given the following scenario: 
Mapambano a tobacco seller and Maendeleo a buyer want to enter into 
contract of sales of goods (tobacco). However, they do not know either "to 
sale" or "agree to sell". In six points, assist them to understand the 
difference between two options so as to make the right option before 
entering into contract.  
 
The question intended to test the candidates’ ability to differentiate the two 
concepts as used in the contract of sale.  
 
A total of 548 (35.3%) candidates answered this question, out of whom 
359 (65.51%) candidates scored from 12 to 20 marks, 111 (20.26%), 
scored from to 7 to 11.5 marks and 78 (14.23%) scored from 0 to 6.5 
marks. Generally, the candidates’ performance in this question was good 
as 470 (85.77%) candidates had good and average performance. Figure 9 
summarises the performance of the candidates on question 2 in paper 2. 
 

 

Figure 9: Candidates’ Performance on question 2 in Paper 2 
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Figure 9 shows that the majority 359 (65.51%) candidates scored high 
marks in this question and the overall candidates’ performance was good 
as only 14.23 percent of all candidates scored below 7 marks.  
 
The candidates who scored high and average marks were aware of the 
terminologies examined as used in the contract of sales. They were able 
differentiate the terms ‘to sale” and “agree/agreement to sell”. Most of the 
candidates who had high scores managed to provide relevant and sufficient 
number of correct points. Among them were able to distinguish the terms 
using four to five points. However some of their points needed more 
explanation for clarity. For example, the point of transfer of ownership 
most of the candidates failed to explain it clearly. They were supposed to 
know when the ownership moves from the seller to the buyer. In “to sale” 
the ownership of the property move to the buyer immediately at the time 
of making a contract while in agreement to sell the seller will hold the 
property until the contract signed become a sale. Their scores varied based 
on the relevance and quality of the explanation provided by individual 
candidate.  
 
Despite good performance, some candidates (20.26%) had average scores 
because they had partial knowledge of the terms tested. The analysis 
shows that most of them managed to the correct points such as resale 
right, consequences of breach, transfer of ownership, risk of loss, right to 
sue for the property and existing property or future property but they 
could not provide correct explanation to most of the points. Others were 
able to explain at least three correct points but included in their responses 
some reasons for the termination of the offer. For example, one of the 
candidates responses were transfer of ownership, risk of loss, 
consequences of a breach, lapse of time, rejection, and death. The last 
three points; lapse of time, rejection, and death are factors for termination 
of offer which were contrary to the demands of the question. Extract 9.1 is 
a sample of correct responses from one of the candidates who 
demonstrated her/his better understanding of the question 2 in paper 2. 
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Extract 9.1: A sample of correct responses to question 2 in paper 2 
 

In Extract 9.1 the candidate managed to differentiate the terms “to sale” and 
“agreed to sell” to support Mapambano and Maendeleo in making the right 
option before enter into a contract.  
 
In spite of good and average performance in this question, a few 78 
(14.23%) candidates scored low marks ranging from 0 to 6.5. Among them 
there were candidates who scored some mark on introduction part and at 
least one correct point. Others listed some correct points and were able to 
explain partially on one side, (to sale) but failed to explain the same point 
on the “agreement to sell”, therefore could not score any marks. The 
analysis shows some candidates misinterpreted the requirement of the 
question as some of their responses reflected on the elements of contract, 
reasons for termination of contract, termination of an offer and different 
terminologies used in contract of sale. For example, one of the candidates 
wrote the capacity to perform, offer and acceptance, intention of create 
legal relationship which are ways in which the contract can be formed. 
Some of the candidates explained the elements of contract of sale instead of 
the difference between “to sale” and “agreement to sell”. They failed to 
realise that in order to differentiate the term they should considers the 
following points: transfer of ownership, risk of loss, consequences of a 
breach, resale rights, executed contract and existing property or future 
property. Extract 9.2 is a sample of incorrect responses to question 2.  
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Extract 9.2 is a sample of incorrect responses to question 2 in paper 2. 

In Extract 9.2 the candidate explained some of the element of a valid 
contract instead of differentiating the term “to sale” and “agreement to 
sell”. 
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2.2.3 Question 3: The Role of Government in Trade 
The question was as follows: The Tanzanian government should not be 
involved in trade because trade is only for citizens and non-citizens and 
not for the government. Use six points to criticize this statement.  
The question intended to measure the candidates’ ability to explain the 
role of government in trade. 
 

The question was answered by 1,387 (89.43%) candidates of whom 1,066 
(76.86%) candidates scored from 12 to 20 marks, 236 (17.16%) scored 
from 7 to 11.5 marks and 83 (5.83%) scored from 0 to 6.5 marks. Generally 
the question had good performance as 94.02 percent of the candidates who 
answered this question scored from 7 to 20 marks. The summary of the 
candidates’ performance in this question is shown in figure 10. 
 

 
Figure 10: Candidates’ Performance on Question 3 in Paper 2 

 
The 1,304 (94.02%) candidates whose performance was average and 
above (stored from 7 to 20 marks) portrayed their understanding on the 
demand of the question and criticized the statement using the roles played 
by government in trade. Most of them wrote sufficient number of correct 
points for criticism, however some minor discrepancies were observed. On 
the other hand, the candidates with average performance managed to 
provide some relevant points to criticize the statement. Among them wrote 
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sufficient number of correct points but could not provide satisfactory 
explanation to some of the points. The analysis shows that some 
candidates mixed some correct points with advantages of privatization. 
The candidates’ scores varied according to the relevance, clarity and 
sufficient number of correct points as per requirement of the question. 
Extract 10.1 is a sample of responses from the candidate who criticized the 
statement using the roles of government in trade. 
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Extract 10.1: A sample of correct responses to question 3 in paper 2 

 
Extract 10.1 shows that the candidate understood the requirement of the 
question and had sufficient knowledge of the role of government in trade.  

On the contrary, 83 (5.98%) candidates scored low marks ranging from 0 to 
6.5. Most of these candidates listed the points such as large capital to 
investment, restrict exploitation, to provide important services, creation of 
employment and national interest which were correct but failed to clarify 
them. For example, one of the candidates explained the points as roles of an 
individual instead of role of the government. He/she wrote: large capital as 
capital it is difficult to have large capita until borrowed from bank. The 
other point was to provide important services person who has large capital 
can supply food to different citizens. The candidate failed to realise that 
some projects which need large amount of capital to invest in which the 
government has to invest on, regional balancing cannot be done by private 
organization or individuals, it is risk to leave the project for providing 
essential services in the hands of individuals. Through government 
involvement in trade, the issue of monopolies can be reduced if not 
prevented. Likewise, different people can be employed from the trade 
owned by the government. It is the task of the government to redistribute 
the wealth among its citizens. Also the government is involved because it is 
its role to protect national interest. Extract 3.2 is a sample of incorrect 
responses to question 3 in paper 2.  
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Extract 10.2: A sample of the incorrect responses to question 3 in paper 2 

 
In Extract 10.2, the candidate explained disadvantages of government 
involvement in trade instead of the role of the government in trade. The 
candidate did not understand the task of the question. 
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2.2.4 Question 4: Marketing 
The question required the candidates to justify in six points the statement 
that Marketing has a crucial role in respect to the development of the 
developing nations like Tanzania. The question intended to assess the 
candidates understanding of the role of marketing to the development of the 
country. 
 
The question was answered by 1,304 (84.07%) candidates. Among them 
1,147 (87.96%) candidates scored from 12 to 20 marks, 137 (10.51%) 
scored from 7 to 11.5 marks and 20 (1.53%) scored from 0 to 6.5 marks. 
The general performance in this question was good because 1,284 (98.47%) 
candidates scored 7 to 20 marks and only 1.53 percent of the candidates 
scored below 7 marks. This performance is summarised in Figure 11. 

 

 
Figure 11: Candidates’ Performance on Question 4 in Paper 2 

 
The majority 1,284 (98.47%) candidates scored from 7 to 20 marks. The 
candidates with average performance justified the statement by providing at 
least three correct points. For example, most of them used the points such 
as provision of employment opportunities, raising of living standard of its 
people, increase/expand home market, increase efficiency performance in 
trade, full utilization of its resources. However, some of them managed to 
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provide more than three correct points with partial explanation while others 
used only examples to describe their points. Furthermore, the candidates 
who scored high marks demonstrated their understanding on the importance 
of marketing in the development of developing countries by providing the 
relatively correct responses with sufficient number of point as required and 
all had good essay writing skills. Despite slight differences noted in the 
candidates’ responses most of the candidates in this category managed to 
answer the question accordingly. The candidates who scored 20 marks 
provided correct responses. The differences in candidates’ scores depended 
on the relevance of their explanation and the sufficient of number of the 
required points. Extract 11.1 a sample of correct responses to question 4 in 
paper 2.  
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Extract 11.1: A sample of the correct responses to question 4 in paper 2 

In Extract 11.1, the candidate justified the role of marketing to the 
development of developing countries like Tanzania. 
 
Apart from the majority of the candidates who scored average marks and 
above, a few 20 (1.53%) candidates scored low marks ranging from 0.5 to 
6.5 marks. Majority of them understood the demands of the question but 
lacked knowledge of the concept examined. Therefore, they highlighted 
some relevant points to the question. For example, they wrote: improving 
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living standard, use of home resources in production, increase of market 
size and employment but a few of them managed to explain partially some 
points in relation to the demand of the question. Other responses from these 
candidates included general functions of marketing such as planning, 
distribution, financing, buying, selling, pricing, branding, and design 
instead of the role of marketing in the development of developing countries 
like Tanzania. Extract 11.2 is a sample of the incorrect responses from a 
candidate who scored low marks on question 4 paper 2. 
 

 
Extract 11.2: A sample of the incorrect responses to question 4 in paper 2 
 

In Extract 4.2 the candidate explained functions of marketing instead of the 
role of marketing in the country’s development.  
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2.2.5 Question 5: Foreign trade  
The question intended to test the candidates’ understanding on the role of 
TPA in foreign trade especially on import. The question was as follows: 
The Tanzania Ports Authority (TPA) assists importer and exporter in 
numerous ways. Suggest six roles played by TPA to assist importers in 
importation of goods.  
 
The question was answered by 470 (30.30 %) candidates out of whom 67 
(14.26%) candidates scored from 12 to 19.5 marks, 237 (50.42%) scored 
from 7 to 11.5 marks and 166 (35.32%) scored from 0 to 6.5 marks.  

This question had good performance because 304 (64.68%) candidates 
scored from 7 to 20 marks. Figure 12 summarises this performance. 

 

 
Figure 12: Candidates’ Performance on Question 5 in Paper 2 

 
Figure 12 shows that 64.68 percent of the candidates scored average and 
above (7 to 19.5) marks. The candidates whose performance was average 
portrayed their understanding on how Tanzania Port Authority supports 
importers in importation of goods. They were aware that (TPA) provides 
habour facilities, warehouse services, ensure importers with greater 
efficiency through communication with other importers, consigning goods 
and provision of port equipment to importers. However, most of them 
identified the points and partially explained them. Some of them provided 
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relevant explanation to some of the roles but could not relate some of the 
points with the requirement of the question. The analysis further shows that 
the candidates who scored high marks understood the question and were 
knowledgeable of the role of TPA to importers. They responded to the 
question as per requirement and the highest score was 19.5 marks out 20 
allocated marks. The candidates’ ability to clarify the suggestions, use of 
good English language and proper essay writing skills had been considered 
in awarding the individual scores. Extract 12.1 presents a relatively correct 
response from one of the candidates who scored high marks. 
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Extract 12.1 is a sample of the correct responses to question 5 in paper 2. 

Extract 12.1 shows one of the responses from the candidates who scored 
high marks. The candidate could not score 20 marks because the point of 
statistical information explained both in relation to import and export. 
However, the question required roles of TPA in assisting importers. 
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Despite the good performance in this question, 166 (35.32%) candidates 
scored low marks ranging from 0 to 6.5 out of 20 allocated. The analysis 
shows that some candidates explained general significances of Tanzania 
Ports Authority (TPA) such as: creation of employment, increase 
government revenues, assists countries which do not have habour, and 
expand market. Some candidates explained a few roles as per question 
requirement but included in their responses explanation of different 
documents used in international trade. For example, one of the candidates 
wrote ensure transport and communication, provide storage services, dock 
warrant, letter of credit, clearing and forwarding and shipping note. The 
first and second points were correct though the explanation given were not 
satisfactory. A few (4) candidates who scored zero mark misinterpreted the 
demands of the question. For example, one of them wrote the advantages of 
international trade while others wrote advantages of government 
involvement in trade and advantages of trade instead of the role of 
Tanzania Ports Authority (TPA). Extract 12.2 presents a sample of 
incorrect responses to question 5. 
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Extract 12.2: A sample of incorrect responses to question 5 in paper 2 

In extract 12.1 the candidate explained the importance of importation instead of 
the role played by TPA in importation. 

2.2.6 Question 6: Business capital 
The candidates were given the following scenario: Suppose the Kwetu 
Public Limited Company is planning to invest in long term project, analyse 
the financing methods that the company can use to raise fund for its long 
term project. The question was intended to test the candidates’ 
understanding on the sources of long term capital for public limited 
companies.  
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The question was answered by 1,259 (81.17%) candidates. Among them 
710 (56.39%) candidates scored from 12 to 20 marks, 459 (36.49%) scored 
from 7 to 11.5 marks and 90 (7.15%) scored from 0 to 6.5 marks). The 
general performance in this question was good since 1169 (92.85) of the 
candidates scored average and above (from 7 to 20 marks). Figure 13 
summarises the performance on question 6. 
 

 

Figure 13: Candidates’ Performance on Question 6 in Paper 2 

Figure 13 shows that the question was well answered because only 90 
(7.15%) out of 1,359 candidates scored below (7 out of 20 marks).  
 
The analysis shows that 1,169 (92.85%) candidates scored average and 
above (from 7 to 20 marks). The candidates in this category had knowledge 
of the sources of capital for the public limited companies. The candidates 
who had average scores managed to explain some correct sources of 
capital, however a few of the points were for short term project (short term 
sources of capital). Likewise, some candidates pointed out three to four 
correct points but the explanation provided to some of the points were not 
sufficient to worth full marks. For example, some of them could not 
differentiate equity, preference shares and debentures as sources of capital. 
Furthermore, the candidates who scored high marks showed their 
competence in responding to the question. Majority of the candidates gave 
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all correct points but some of the explanation had minor discrepancies. In 
addition to that, the candidates who scored 20 marks provided sufficient 
and relevance sources of finance for public limited companies. Extract 13.1 
is a sample of the correct responses from one of the candidates who scored 
high marks.  
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Extract 13.1: A sample of the correct responses to question 6 in paper 2 

In Extract 13.1 the candidate analysed the sources of capital that fits for 
Kwetu Public Limited Company. 

In spite of good performance in this question a few 90 (7.15%) candidates 
had low scores which ranged from 0 to 6.5 marks out of 20 allocated 
marks. Majority of the candidates listed at least three correct point 
including selling of shares, issuing of debentures, hire purchases and profit. 
Only a few of them gave relevant explanation to at least two points. For 
example, some candidates explained profit as the company has to use all 
profit generated as a source of finance instead of taking part of it for 
investment. Others failed to differentiate hire purchase from deferred 
payment therefore the explanation of differed payment was shown in the 
hire purchase. Some candidates had misconception on the demands of the 
question. For example, one of them wrote the advantages of company over 
a partnership. Another one wrote the difference between public and private 
limited companies and the means in which companies increases their 
profits. Extract 6.2 is a sample of incorrect responses to question 6. 
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Extract 13.2: A sample of the incorrect responseS to question 6 in paper 2 

 
In Extract 13.2 the candidate explained the means through which the 
business can increase its profit instead of the sources of financing public 
limited company’s long term projects.  
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2.2.7 Question 7: Export Trade 
The candidates were provided with the scenario that Some Tanzanian 
citizens blamed the government for exporting minerals like gold, tanzanite 
and diamond to other countrie. In three points, convince the citizens that 
what the government is doing is right and provide three disadvantages that 
the country can get from being engaged in such kind of trade. The question 
intended to assess the candidates’ understanding on the advantages and 
disadvantages of export trade.  
 
The question was answered by 1,233 (79.50%) candidates of whom 793 
(64.32%) candidates scored from 12 to 19 marks, 382 (30.98%) scored 
from 7 to 11.5 marks and 58 (7.40%) scored from 1 to 6.5 marks. The 
candidates’ performance in this question was generally good because 95.30 
percent of the candidates scored from 7 to 19 marks. Figure 14 summarises 
this performance. 
 

 
Figure 14: Candidates’ Performance on Question 7 in Paper 2 

 
A total of 713 (64.32%) candidates scored high marks ranging from 12 to 
19 marks. The candidates had sufficient knowledge of export trade so they 
managed to respond by providing the advantages and disadvantages that 
Tanzania can get by being involved in exportation of minerals. The 
candidates related the general advantages and disadvantages of export with 
the given scenario. Most of them responded correctly on the advantages but 
provided only two correct disadvantages. Others provided the advantages 
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and disadvantages as per the requirement of the question but a few points 
had unsatisfactory explanation. Variation of candidates’ scores was caused 
by various reasons like relevant explanation to the points, sufficient number 
of points and observing essay writing procedures. Extract 7.1 represent the 
sample of correct responses from a candidate who scored high marks in 
question 7. 
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Extract 14.1: A relatively correct response to question 7 in paper 2 

Extract 14.1: A relatively correct response from the candidate who scored 
high marks (19). The last point was not a strong one, however the candidate 
tried to relate it to the demand of the question.  

On the other hand, 382 (30.98%) candidates scored average marks (7 to 
11.5 marks). These candidates understood the demands of the question but 
had partial knowledge on the concept examined. Some of them gave the 
three advantages of export mixed with general disadvantages of 
international trade. For example, some candidates wrote danger of 
monopoly, trade barriers, import inflation and unfavourable balance of 
payment, long documentation procedures and dependence which are 
general disadvantages of international trade not specific to exportation.  

Conversely, 58 (7.40%) candidates had scores ranging from 1 to 6.5 marks 
which are regarded as low scores. The analysis shows that some candidates 
understood the requirement of the question as they listed the advantages 
and disadvantages in general but could not provide correct explanation to 
any of the points. However, other candidates explained the reasons for 
international trade instead of the advantages and disadvantages of export of 
minerals. The example of responses given by these candidates include: 
language barrier, political instability, climatic condition and control of 
dumping. Likewise, some candidates were able to explain only one point on 
advantages, the rest of the points include importance of international trade. 
The correct responses for this question were: Increase the standards of 
living, create employment opportunity, better use of resources, reduce 
deficit balance of payment, source of government revenue as advantages 
and selling at disposable price, discourage innovation and creativity, 
exhausted of the resources, over exploitation, importation of expert as 
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disadvantages. Extract 14.2 is a sample of incorrect responses from a 
candidate who scored low marks. 

 
Extract 14.2: A sample of incorrect responses to question 7 in paper 2. 

In Extract 14.2, the candidate wrote partial introduction but failed to realise 
that the question required him/her to explain the advantages and 
disadvantages to the government and not to individuals. 
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3.0 ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH 
TOPIC 

 
Commerce paper 1 and 2 examination comprised a total of 14 questions 
composed from 14 topics. The analysis shows that the overall performance 
in Commerce subject was good because 12 out of 14 topics had good 
performance and 2 topics had average performance.  

The topics with good performance were: Production (99.40%), Marketing 
(98.47%), Insurance (95.49%), Export Trade (95.29%),  Roles of 
government in trade (94.02%), Business Capital (92.85%), Banking 
(90.71%), Advertising (88.97%), Contract of sales(85.77%), Transport and 
Communication (82.40%), Retail Trade (66.03%) and  International Trade 
(64.03%). The reasons for the good performance were: candidates’ ability 
to adhere to the requirement of the questions, adequate knowledge of the 
concepts examined, and good mastery of essay writing skills. 
 
Despite most of the topics having good performance, two topics, The Scope 
of Commerce (58.39%) and Import Trade (41.01%) had average 
performance. The average performance for the two topics was due to 
candidates’ partial knowledge on the concepts examined, insufficient 
number of correct points according to the question and misconception of 
the requirement of the questions. Likewise some candidates mixed correct 
with incorrect responses. The analysis further shows that, the other problem 
the candidates faced was inability to provide satisfactory explanation of 
some points due to the low proficiency in the English language. The 
analysis of candidates' performance per topic is summarised in Appendix 
A. 

4.0 CONCLUSION AND RECOMMENDATIONS 

4.1 Conclusion 
The analysis of the candidates’ performance shows that the overall 
performance of 152 Commerce subject was good since 1,547 
(99.87%) candidates out of 1,551 candidates who sat for the 
examination passed and only 2 (0.13%) failed. The performance of 
the candidates in 2023 increased by 0.02 per cent compared to 2022. 
The candidates’ good performance had been attributed to their ability 
to understand the requirement of the questions, knowledge and 
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competence they had on the examined topics. Despite the good 
performance there are some candidates who had average 
performance. These candidates encountered different challenges in 
responding to the questions such as partial knowledge of some of the 
concepts examined that lead to partial responses to some of the 
questions. The other thing noted as a result of partial knowledge was 
mixing of correct with incorrect responses to some of the questions. 

On the other hand, some candidates performed poorly because they 
lacked knowledge about the subject matter to some of the examined 
topics. Some candidates among them mixed few correct with 
incorrect answers. They failed to identify the requirements of the 
questions and therefore answered some questions contrary to their 
requirements. 

4.2 Recommendations 
For the better performance of candidates in Commerce subject in 
future, it is recommended that:  

(a) Teachers should guide students on how to identify trade from 
other activities using the features of trade in the topic of The 
concept of commerce. 

(b) Teachers should prepare students visit to Tanzania Ports 
Authority (TPA) to make students learn more about the roles 
of TPA on importing and exporting goods. Students to read 
carefully the TPA booklets and brochures to understand better 
the roles of TPA in importation of goods. Teachers to prepare 
guiding questions for the students to discuss on the roles of 
TPA in importation of goods and to guide the discussion on 
the roles and the important roles of TPA 

(c) Teachers to guide students on how Import, Export and Foreign 
trade differ from each other. They should guide students to 
understand the need for protectionism in import trade.  

(d) Teachers should provide sufficient practice by giving students 
questions on the topics with average performance. 

(e) Students should learn to identify the requirement of the 
questions before attempting them. 
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Appendix A 
A Summary of the Analysis of the Candidates’ Performance Topic  

S/N Topics Number of 
questions 

Percentage of 
candidates who 
scored the 
average of 35 or 
above 

Remarks 

1 Production 1 99.40 Good 

2 Marketing 1 98.47 Good 

3 Insurance 1 95.49 Good 

4. Export Trade  1 95.29 Good 

5 Role of government in 
trade 1 94.02 

Good 

6 Business Capital 1 92.85 
Good 

7. Banking  1 90.71 
Good 

8. Advertising  1 88.97 
Good 

9 Contract of Sales 1 85.77 
Good 

10 Transport and 
Communication  1 82.40 

Good 

11 Retail Trade 1 66.03 
Good 

12 Foreign Trade 1 64.03 
Good 

13 The Scope of Commerce 1 58.39 
Average 

14 Import Trade 1 41.01 
Average 
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